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QUESTION 1

An administrator has configured a dialup IPsec VPN with XAuth. Which statement best describes what occurs during
this scenario? 

A. Phase 1 negotiations will skip preshared key exchange. 

B. Only digital certificates will be accepted as an authentication method in phase 1.C 

C. Dialup clients must provide a username and password for authentication. 

D. Dialup clients must provide their local ID during phase 2 negotiations. 

Correct Answer: C 

 

QUESTION 2

An administration wants to throttle the total volume of SMTP sessions to their email server. Which of the following DoS
sensors can be used to achieve this? 

A. tcp_port_scan 

B. ip_dst_session 

C. udp_flood 

D. ip_src_session 

Correct Answer: A 

 

QUESTION 3

The FSSO collector agent set to advanced access mode for the Windows Active Directory uses which convention? 

A. LDAP 

B. Windows 

C. RSSO 

D. NTLM 

Correct Answer: A 

 

QUESTION 4

Which of the following statements are true when using WPAD with the DHCP discovery method? (Choose two.) 

A. If the DHCP method fails, browsers will try the DNS method. 
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B. The browser needs to be preconfigured with the DHCP server\\'s IP address. 

C. The browser sends a DHCPINFORM request to the DHCP server. 

D. The DHCP server provides the PAC file for download. 

Correct Answer: AC 

 

QUESTION 5

Examine the routing database shown in the exhibit, and then answer the following question: 

Which of the following statements are correct? (Choose two.) 

A. The port3 default route has the highest distance. 

B. The port3 default route has the lowest metric. 

C. There will be eight routes active in the routing table. 

D. The port1 and port2 default routes are active in the routing table. 

Correct Answer: AD 
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